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Examples:

A. B
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@ @ e
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C. D.

A: not reflexive B: not reflexive
symmetric not symmetric
antisymmetric not antisymmetric
transitive not transitive

C: not reflexive D: notreflexive
not symmetric not symmetric
antisymmetric antisymmetric
not transitive transitive
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Composition
Definition: Suppose
e R1 is a relation from A to B
« R2 is a relation from B to C.

Then the composition of R2 with R1, denoted R20R1 is
the relation from A to C:

If <x. y> is a member of R1 and <y, z> is a member
of R2 then <x, z> is a member of R2oR1.

Note: For <x, z> to be in the composite relation R20R1
there must existayinB .. ..

Note: We read them right to left as in functions.

Example:
a A
b B
c O VO \O €
O ©D
R1 R2
R20R1 = {<b, D>, <b, B>}
Discrete Mathematics by Section 6.1

and Its Applications 4/E Kenneth Rosen TP &



